


RBI Assistant Mains - Previous Year Solved Paper

Held on: Ist Aug 20015
(Based on Memory)

Test-1: English Language

Directions (Q. 1-8): Read the following passage and
answer the given questions. Certain words/phrases are
given in bold to help you locate them while answering
some of the questions.

One day, a fartner was hoeing his vineyard when he
struck something hard. He bent over and saw that he had
unearthed a fine mortar beautifully engraved. When he
cleared the dirt of it he saw it was made of solid gold. ‘1 do
notown it, { ought to give it to the king.’ he said. When he
went home with the fine mortar he saw his daughter and
announced his intention of presenting it to the king. ‘it is
a good idea, father,’ she said. ‘It is worthy of aking but the
king will find fault with it since something s missing —the
pestle.’ The farmer shrugged off her words and marched
straight to the king’s palace. The guards weren’t going to
let him in but seeing the wonderful gift, they did. The faimer
bowed low before the king and said, ‘] found this mortar in
my vineyard, your Majesty, and 1am giving it to you to do
with it as you deem fit.' The kingtook the mortar and tumed

it around, examining it carefully and said, ‘Where i the
pestle, my dear man?’ These were his dayghter’s words
exactly and the farmer slapped his brow and exclaimed out
loud, ‘She guessed it!’ ‘Guessed what?’ said the king. ‘My
daughter told me that you would say those words and ]
refused to believe her.’ ‘This daughter of yours must be
very clever. Take this flax and tell her to make the shirts for
advbole regiment of soldiers. But tell her to do it quickly
since | need the shirts right now.” The fariner was stunned.

But he did not argue with the king and picked up the bundle

which contained only a few measly strands of flax and set
out for home. ‘My daughter,’ he said, when he reached
home, ‘you really are in for it.” And he told her what the
¢« 3g had said. ‘You get upset over nothing,' said his

. *‘Give me the flax,’ And taking it, she shook it out

unitil a fewscales from the flax fell onto the floor - hardly a

handful. The farmer’s daughter gathered those up and gave

them to her €ather, tGo to the king tomorrow and tell him ]

will make the shirts but since 1 have no loom to weave the

¢toth 1 will have to have one made for me with this handful

of scales to carry out his order to the letter.' The farmer did

not have the nerve to go back to the king with this reply

but he did fearing for his daughter’s life. The king was
eager to meet the famer’s daughter on hearing the reply

she sent through her father and said, ‘Tell your daughter
to come 10 the palace when it is neither day nor night,
neither on foot nor on horseback. She is to obey on both
these conditions or both your head and hers wil! rol’. The
farmer arrived home in the lowest of spirits. But his
daughter :old him not to woity. Sherose and set out for the
palace seated on a nanny goat with one foot touching the
ground and the other off it. She managed to reach the
palace after the difficult jourmey just as dawn was breaking
(neither day nor night completely). The guards were
reluctant to let her in but leaming that the king had
commanded it, they finally did. ‘ Your Majesty, [ am here in
compliance with your order,’ she said. The king burst into
laughter on seeing the girl and announced that she was
worthy of’ being a ruler’s wife. He married her and they
ruled in wisdom.

l.  Which of the following cannot replace the word
STRUCK as used in the passage?
| )discovered 2) uncovered
4) stumbled on  5) tumed up

2. What impact did the farmer’s encounters with the king
have on his (the king’s) life?

1) The king stopped harassing his subjects.

2) Theking got married.

3) The king gave up his throne to marry the farmer’s
daughter.

4) Theking gained fine omaments and clothes for his
soldiers.

S) The king was humiliated by the farmer’s daughter
and he left the kingdom.

3. Whichofthe following is most nearly the OPPOSITE
of the: word NERVE as used in the passage?
1)calm 2) anger 3) demotivated
4) tearfulness  5) boldness 2

4. Why did the farmner utter the words, ‘You really a}e m
forit'? '

1) He was conveying to his daughter the king's desire
to masry her.

2) He was angry with his daughter for disagreeing
with him

3) He was upset because his daughter refused to
weave the clothes as the king had ordered her to.

4) He did not see how his daughter could accormplish
the seemingly impossible task set by the king.

5) He was feeling sorry for himself as his daughter
was bullying him.

3) attacked
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The DNCE rize tur South A 1an hiterature 2019 wan
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2) The Lowland
1) A God in kvery Stone

1) Unenxsintiimed Fosrih
3) Nooatwde Toll

8) The Mirror of Beauty:
tor its inituatives and achievernents in the field of
environment, the tnion Minister of siste for
I'nviconment, Prakash Javadckar recently presented
the Giolden PPeacock environment managetnent award
to Krishnapatnam Port situated in the Indian state of
I) Tamil Nadu 2) Andhriv Pradesh

3} Kemla 4) Karmataka

$) Other than those given us options

MS Vishwanathan, who recently died at the age of 88,
was a well known

1) Music Director and Conposcr

2)Fiction and Children's Author

3) Historian and Educator

4) Film Director and Screenwriter

S) Physicist

FIFA Women's World Cup 20! 5 was won by
1)USA 2) Chile 3) Gennany
4) loly 5) Japan

An ancient Buddhist ga dating back toover 1,200
years to the period of he Tang Dynasty (618 AD-
907AD) has recently (July 015) been discovered in
1) India 2) Japan 3) Myanmar

4) China 5) Bangladesh

The official currency o f Bangiadesh is

I)Rupee 2)Lira  3)Rupiah 4)Taka §)Baht
The objective of the recently launched Pradhan Mantri
Micro Units Development and Refinance Agency
(MUDRA) Yojana is to encourage especially

1) big infrastructural projects
2) small and medium enterprises
3) other than those given as options
4) social and cultural activities
5) small banks
The first Indian bank to provide Equated Monthly
Instalment (EMI) facility on purchases made on its
debit cards is

1) ICICI Bank
3) Union Bank of India
5) Punjab National Bank
India has recently (June, 2015) signed a historic land
boundary agicement with

) Bangladesh 2) Bhutan
4) Myanmar S)China
Which of the following Indian states has the highest
population of tigers?
1) Madhya Pradesh
3) Unarakhand 4) Karnataka

2) State Bank of India
4) IDBI1Bank

3) Nepal

2) Andhra Pradesh
5) Gujarat
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The articles determining escht country’ share and
lender ‘s intial Capital in respect of the S 100-ballion
Asian Infra tructure Inve tment Bank (AJIB) was
signed recently by as many aa

1157 founding members  2) 40 feunding membery
3) S0 founding members  4) 69 founding members
§) 61 founding members

Mundra Thennal Power Station is located in the Indian
state of

| ) Gujarat 2) Chhattisgarh 1) Madhya Prudesh
4) Rajasthan S)Haryana

As per the current provisions of the Coinage Act, 2011,
coins can bc issued by RBI in India up to the
denomination of

1NTS00  2)TW100 3)T0  4)T20  5)TIono
Major Dhyan Chand National Stadium is a field hockey
stadium situated in

1) New Delhi 2) Kanpur
4) Lucknow 5) Nagpur
The S-nation BRICS group has recently signed an
agreement to create a USD 100-billion pool of foreign
exchange reserves to help each other in case of any
problem with dollar liquidity. India‘s contribution to
the pool is

1) USD S billion 2) USD 10 billion 3)USD 15 billion
4) USD 18 billion §)USD 4| billion

The Nashik-Trimbakeshwar Simhastha Kumbh Mcla
was recently held on the banks of the river

1) Sabarmati 2) Godavan 3) Saraswati
4)Narmada 5) Krishna

The *‘Desert National Park’, known for hatching of the
near-extinct Great Indian Bustard, is situated in the
Indian state of

1) Rajasthan 2) Gujarar 3) Uttar Pradesh
4) Haryana 5) Madhya Pradesh

In the banking sector in India, an unclaimeddeposit is
the one that has not been claimed for a period of at
least

1) three years 2) five years
4) two years 5) four years
Shri Pranab Mukherjee, President of India, recently
received first copy of the book titled Uniki at
Hyderabad. The book is written by

1) C Vidyasagar Rao, Governor of Maharashtra

2) Bandaru Damemreya, Union Minister

3) N Chandrababu Naidu, CM, Andhra Pradesh

4) Venkaiah Naidu, Union Minister

5) Other than those given as options

Which of the following persons has been named as
the first Chairman of the upcoming Kolkata-based
Bandhan Bank?

1) Montek Singh Ahluwalia 2) Ashok Kumar L.ahin
3) Kaushik Basu 4) Amartys Sen
5)Arvind Virmani

3)Kolkata

3)ten years
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Which of the following currencies has now become
the world's secord most uscd currency in trade
finance?

1) British Pound
J)EuroZone's Euro

2) Japancse Yen
4)US Dollar

1)XT RamaRao

2) YS Rajashekhara Reddy

3) K Chandrashekhar Rao

4) Other than thosc given as options

S)T Harish Rao

Which of the following national programmes aims to
create skitled manpower at grass roots level by
providing them vocational, technical and skill-
development education?

1) PMKVY 2)PMSBY
4)}PMIDY S)PMMY
The RBI has recently sct up a committee headed by
Deepak Mohanty. The objective of the committee is
to wotk out a medium level (five-year) measurable

3) PMAY

acuon plan for

1) Trade Finance 2)FDI
3 ) Financisl Inclusion 4) PPP
$) Disinvestment

Test-11: Quanﬁiativeiptitude

A, B and C, each working alone, can finish a project in
42 days, 28 days and 48 days respectively. A started
the project by working alone for 7 days and then B
wak over from A. B worked alone for 7 days, and then

C wok over from B. In how many days will C finish the

remnssning work ?
1) 35 days 2) 28 days 3) 32 days
4) 24 dayn 5)21 days

7200 was partly invested in scheme “A’ for 6 ycars
and pardy m «heme 'B' far 2 years. Both the schemes
oflorvd sunple interest al | 2% per annum, The total
wiges acoved from ‘A° and ‘B’, al the end of their
respective mvestment penod was €4008. How much
was mvesied 1 scheme “A'?

1)04750 2)0345Q0 ))T38s0 4)T600 $5)TS250
Theve 1 a cucular piot of radius 2|1 metres. A circular

sculing spece (3 canstuctod st the centre of the plol
at 8 1otal cost of €238t 06-per square mewre. What 13

the arca of the rematming pan of the cucular plt?

15102 2)112  3)126  4)108 5)9%

45. A. B and C invesicd in a business fordifferent periods
of time in u year. A invesied 218000, P} invested T1 5000
and C invested 212000, A invested for 2 period which
wis 1.5 timnes the period for which B invested and C
invested Tor a period which is twice the penod for
which 14 invested. I at the end of the yeas, 13 rf<£aved
an nmount ol 22729 as his share in the proffl, wha
wys C's share in the profit?

1124400 2)24120 3)T45€0) 4)T4280  5)4360,

- ®
¢ total time taken by a boat travelling from X to

and Y 10 X is 2 hours. The spced of the beat & |2

kmph andthe distance between X and Y 18 9km Wha

is the speed of the current?
1) S kmph 2)2 kmph 3)4 koph

14) 6 kmph 5) 7 kmph |
A jar contains 91 litres of mixture of milk and waer

fe ratio of 11 : 2. Now, 26 litres of munae s mken om
from the jar and S litres of purc water (s added w %
jar. What is the percentage of water in the resnétax

muctoe”?

-~

¢

| 4 2 3 i
— 4— 22— 21= §) 25~
1)287 2)27 3) 3 $) E )
Directions (Q. 48-S4): What should come im ptace of
guestion mark (?) in the following question? (Yos are sst
expected to calcutate exact value.)
48. (47.1)2-(7.9)-(1201)y ="

1)2010 2)2070  3)2160 4)2280 5)2340
49 Jﬁs + J(4900) x J(76) = 184 - 2«7

1)1204  2)1183  3)1246 4)1169  5)1267
50. (10" x3.465+ 10" x 0.253)+ (120 » 10)= 10" -2

1)6 2)8 3)3 4)$ 5)2

1863+(:S-I84 851417

)3 2)9 38 4)8 9°
2 (V1756 x J567 + V4.77)° = ®

)20  2)380 2)450  4)SO  $)900
53, 8866 +39x4S5="x |9

1)400 2)350 J) 520 4)29 e

Sk IDnfiEIsH) <125

il 2)3 3o 48 R
Directions (Q. $5-83): What should come in place of
queation mark in the Nllowing questing:*

1)1245 agm 2)157425agpn  3) 1306.7% g
4)13475sgm  3)1386eqm (15+24%09)
Ammmmumawwoﬂd'wﬁr $8. 102+
scoonds  How euxch-tirme-wil 8 man )
4 ST 1)2.4 2)8.7 3)1.7 4)%.4 )o.8

apolen
mmw_u.f_n_u.mmu_u

cycling ats spead of 7 kmph? (in ssconds)
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: 49) 27
‘( 144)* ( * 576)“ TR

1)3 2)27  3)6 4)9 5) 15
65%9+7-101 = J(256)

4SS 2)4 3)18  4)3 5)S
l%of 1440 + 40% of 35507 =612

)99 2)129  3)81  4)121  S)1I9
?+(25% of 289—32% = 0.2

165  2)79  3)67  4)38  5)85
84+ 142=7x105+8.5

D23 2)2i  3)22 424 $5)26
(12.5x14)=20+41.25=2+2 5

1)6 2)$ 3)3 4)4 5)7
0.36 x0.36 +0.28 x 0.36 +0.142=9

1)0.144  2)025  3)0.016 4)0.025 $5)0.16

In the month of October, Daya spent 12% of HKia
monthly income on groceries, 24% on paying his
children's schoot fees and 30% on paying bills. Out of
the remaining amount, he deposited 60% in fixed
deposits. If his monthly lary is 26500, what is the
amount that is leRwith = ?
1)X3540 2)X3 06

4)T3582 5)X3570

3)T3604

. The ratio of monthly eamings of P to thatof Q is4 : 7.

If the monthly eaming of P increases by 20% and that
of Q decreases by 40%, the new ratio becomes 8 : 7.
What is P's monthly eaming?

1)T18200 2)T15800 3)X16400
4)T168600 5) Can'tbe determined

IfY 15§ times of X and theratioof (Y + 1)to (X + 19) s
3 : 1, then what is the difterence between X and Y?
N2  2)103 3)122 4)113  5)123
The ratio of the present age of Sita to that of Gita is 3
: 8. Five years ago, the ratio of the age of Sita to that of
Gita ot that time was 2 : 7. What is Gita’s present age?
1)32 years 2) 42 years 3) 30 years
4)40 years 5) 36 years
The peimeter of a rectangle is 1 20m. 1f the difference
baweenthetength and the breadth of the rectangle is
4m, what is the circumference of the largest circle that
can be drawn inside the rectangle? (in m)

DI 2)90 N0 4132  5)88
The average salary of A, B and C is £7200. The average
salary of B, Cand D is T7550. If D's salary is 25% more
than A's salary, then what is the average of B's and
C's salary?
1) 38950
4)T8900

2) 79450
5)%8700

3)T3300

Directions (Q. 69-73): What wlll come in place of
question mark (?) in the given number series?

69. 16 8 27 S 20 7
1)232 2246  3)254  4)242  5)248

70. 13 108 |54 82 178 7
1)5.8 pr{é 3)62  4)7.2 568

71. 4 9 e 139 7 379
1)254  2)233 3)236 MTH  5)262

7. 17 7 3 7 ? 317
1)167  2)160  WT¥7  4)147  9)IS]

B. 12 8 0 17 3% 7
2)84 3)76 4)98 5)104

Directions (Q. 74-78): Study the table and answer the
given questions.
Number of bangles sold by 6 stores during S months

Stores
Moh =5 Q@ R s T _
May 154 129 87 89 165
Junc 121 120 145 89 172
July 145 88 105 133 104
Au 169 102 130 114 129
September 128 177 94 220 131

74. Out of the total number of bangles sold by store R in
June, July and August together, 35% were made of
gold. What was the total number of gold bangles sold
by store R in June, July and August together?

D127 2)139  3)121 4) 145 5)133

75. What is the difference between the total number of
bangles sold by store S in June and July together and
the total number of bangles sold by store P in the
same months together?

172 2)58 3)44 4)64 5)62

76. What is the average number of bangles sold by stores
Q, Rand T in May?

13l 117 3)127 4)135  5)123

77. What is the ratio of the total nwnber of bangiles sold
by stores S and T together in August to the total
number of bangles sold by the same stores together
in September?

D913 2)7:9 313 4)9:11 957:11

78. The number of bangles sold by store Q inareased by
what per cent from June to September?

1)42.5  2)45 3)40 4)47S8 5)445

M. A shopkeeper sold 25 chocolates a1 a profit of 20%
and 15 chocolates at a profit of 30%. Had he sold all
the chocolates at a profit of 25% he would have carmed
¥6 more. What is the cost price of each chocolate?
N0  2)T12 3)¢8 )T14 5T

80. There are two numbers. When 50% of the first number
is added to the 2nd number. the resultant number is
0.875 times the Ist number. What is the ratio of the !st
to the 2nd number?
1)8:3 2)8:5 3)9:2

4)9:4 §)S5:1
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Test-111: Computer Knowledge
& Muarketing

are 1he compaters thal provide resources
o other Lomputers in a nelwork.
13 tow hacrecns  7) IPlatforms 3) Servers
4) Monitors S) I*criphernl devices
(e gigabyt is npproximately
1) One Inllion bytes 2) 1 milllon bits
1) 1 ulllion bytos 4) 1000 bytca
134000 hyicn
In MS Iniernet Uxplorer (112), what is the shortcut key
10 open the (avouritos box?

Neu W 2)Ctrl v P HCtel t E
4)Ctrel v 5)Ctrl 4 |

ixamples of a tolecornmunlication device is

1) Keyboard 2) Mouse 3) Modem
4) Printer $)Monitor

In tciecominunications und computer network,
is a incthod by which multiple analog

signnlx or digital data strecams arc combined into one

slgnal over n shared mediun.

|) multi-tasking 2) multiple challenging

3) broadband 4) co-proccssing
) multiplexing
Which of the followi dard protocols is used for

transferring files from one host to another overa TCP-
buscd network?

DEFP  2)SMTP 3)ANMP 4)RPE  5)SNMP
Which of the following is not 8 binary number ?
IO 2)111 3)123 4)101] 5)110

is a temporary holding for data, application

program instructions and the operating system.

|) RAM 2) EEPROM 3) PROM

4) Disk storage 5)ROM

The content that combines contents from text, sound,
graphics, motion wave and animations is called

I) multimedia 2) sound wave 3)picture media
4)motion wave 5)macromed ia

What Is the name of the supercomputer developed in
ndia?

)ICAD 2)ACTION
4) PARAM 3)CRAY
In an MS Word document, the best way to move 4th
line to be placed after the Sth line is

1) view cut 2) fonnet, paste  3) insert, paste -
4) cut, paste 3) delete, paste

A 1lome page is

1) a webpage that identifles the website

2) the last page of the webslte

3) a web page you eventually reach by clicking a series

of hyperlinks

4) 8 web page created by an individuel home user as

3) DRAM

oppar ¢d 1o the onc ¢r ated by the organs

$) the webh page you like to visil the maost

93  Whal is an organisation’s inicrnal private network
called that uses the infrastructure and standards of
the Fthernet and the web?
1) Choke 2) Intranct
4) Extranct 5) Supcmet

94. Thc lurgest unit of digital information is
1) Byte 2) Kilobytes J) Mcgabytcs
4) Tcrabytes 5) Gigabytcs

95. In computing, an indicator (symbot) that shows the
position on computer monitor scrcen that will respond
to input and lead input of pointing device is called
1) frame 2) cursor 3) device pointer
4) monitor 5) pixels

96. Devices such as monitors and printers that arc
connected to computer are called
1) input devices 2) attachment devices
3) system devices 4) processing devices
5) peripheral devices

97. Usually the e-mail is in
|) upper case 2) middle case
4)bold 5) lower case

98. Which of the following would not be considered a
form of a secondary storage of a computer version?
1)Opticatdisk  2) Flash drive 3) Floppy disk
4) RAM S)Hard Disk

99. Storage that retains the data after the power is tumed
off is referred to as
|) direct storage 2) sequential storage

3)'nondestructive storage 4) volatile storage
5) nonvolatile storage

100. HTML stands for
[) Hyper Type Markup Language
2) Hyper Tool Machine L.anguage
3) HyperText Markup Language
4) Hyper Text Machine Language
5) Hyper Text Marking LLanguage
101. What does the tenn EPROM mean?
1) Erasable Programmable Read Only Memory
2) Erasing Penmitted Read Often Memory
3) Easily Permitted Read Often Memory
4) Easily Programmable Readabie Only Memory
3) Electrically Programmable Read - Only Memory
102. To move to the end of an MS Word Document, press

Len

3) Gate

3) italics

1) Ctrl + Home key 2) Home Key
3)EndKey 4) Ctrl + Backspace Key
5)Ctrl +End key

103. [n SMTP server SMTP means
[) Simpte Mail Transfer Protocol
2) Short Messages Transfer Priority

3) Simple Messaging Text Process
4) Server Message Text Protocol

3) Service Message Text protocol



104 [deduy 1ng 1s done on software code for
) finding evrony 2) compmling 3) mitralising
4} installing §)assembling

10 Whichkey i used indclete the lerter immediaicly et
of the cursor while formatting document using MS

Word?
1) shift 2) Tab 3) Backspace
4) Spaccbar 5)iXxlere

106. The shortcut key Ctrl + Y in MS Word will
1) redo last action performed
2) undo fast action
3) cut selected text

4) paste
5) inscrt link
107. Printers and screens of computer systems arc common

form of
I) Computation units

3) Storage units
S) Input units
108. VolP is a group of technologics for delivery of voice

communication. VolP stands for
1) Voice over Intemet Protocol
2) Voice on Intemet Price

3) Voice on Information Process
4) Voice on Intemet Portal

S) Voice over Informat on Portal

109. The system compone t called _, is a
multipurpose, progra able device that accepts

digital data in input, processes it according to the
instructions stored in the memory and provides results

as output.
1) keyboard 2) mouse

4) microprocessor S) plotter
110. The primary function of the of a personal
computer is to initialise and test system hardware-

components and load on operating system from a mass

memory device.
1) Memory
3) System programs
5) Application program
111. An EULA stands for
1) Environmental Use Licensing Agreement
2) Employee-Use Legal Armangement
3) End-User License Agreement
4) End-Use License Arrangement
5) Everyday User Leading Assistance
112. In CDMA technology, CDMA means
1) Code Division Medium Allotment
2) Compact Disk Media Access
3) Common Division Medium Allotment
4) Clear Disc Multiple Access
3) Code Division Multiple Access
[13. W3C is an international community which participates
to develop Web standards. W3C denotes
L

2) Output units
4) Processing units

3) monitor

2)BIOS
4)CPU

- e agy

I} Wortd Wide Web Collection

2) World Wide Web Consortium

1) World Wide Weh € onrrection

4) World Wide Web C ommuntcation

$) World Wide Web Comimand

MICR stands for

1) Magnctic ink Classic Record

2) Magncetic Ink Character Recogmition

3) Magncetic Ink Computer Record

4) Major Information on Character Recognition

§) Magnetic Ink Computer Recagnition

| 15. The computer chip is also called a
I ) micro chip 2) thin-film }) thin-plate
4) semi-conductor 5)1inodem

116. Which of the following cables can transmit data at

high speeds?
| ) Co-axial cables
J) Optical fibre cables
SYUTP

| (7. A program that translates/transfonns the source code
written in a programming language to Machine
Language, also known as object code, at one go is

14

2) Twisted pair cable
4) Flat cables

called
1) Divider 2) Assembler 3) Compiler
4) Interpreter 5) Decoder

118. A hexadecimal number is a number to the base

1)20 2) 16 3)2 4)8 5)4
119. is a computer network software

administration utility used to test the machinability of

a host on an IP network.
|)Peak 2)View 3)Search 4)Size  §)Ping
120. The operating system is stored on the hard disk of the

computer. During the process, a copy of the
OS is transferred to RAM, where it can be accessed

« quickly whenever computer needs to carry out an
input, output or storage operation.
1) Booting 2) Saving
4) Storing 5) Processing

Test-1V: English Language

Directions (Q. 121-125): In this question a senteace

with four words in bold type is given. One of these four
words given in bold may be cither wrongly spelt or

inappropriate in the context of the sentence. Find out the
word which is weongly spelt or inappropriate, if any. That
word Is your answer. If all the words givea in bold are
correctly spelt and also appropriate in the context of the

sentence, mark ‘All correct’ as your answer.
121. Much to everyone's surprise, the man road the horse

with the fineésse of a well trained journey.

3) Editing

1) surprise 2) road 3) finesse
4)journey 5) All correct .
12. The second gny man declared his love for the princess



and asked for her hand in marrage, thousands of

goblins appeared to capture him and push him over

the cliff.

1)declared 2) marrage

4)cliff 5) All correct

123. ““Are all living bcings to be lovedand cared for?” asked
the little girl.

1) hiving 2) beings

4) cared 5) All correct

124, The boy lived alone with his grandmother in a cotage
beyondthe fields.

1) alone 2) cotage

4) fields 5) All correct

125. The water serged up above that massive rock and
drenched the old man.

1) serged 2) massive

4) drenched 5) All correct

Directions (Q. 126-130): Rearrange the given six

sentences (A), (B), (C), (D), (E) & (F)in a proper sequence
so as to form a meaningful paragraph and then answer the
given questions.

(A) Since then the camel transports man and his
goods and is the ship of the desert.

(B) After a while the camel quietly walked up to a
small pool of water and drank deeply.

(©) Inolden times, there was no system of transport
across the desert and favellers across these vast
lands had to face many difficulties.

(D) Suddenly the man heard some loud grunts and
turming his head, he saw many such animals
heading his way.

(E) Oneday, while travelling across one such desert,
a man suddenly saw a camel chewing leaves and
thought to himself, **What a strange creature this
ist”

(F) “They must be very strong; they can walk for
long distances across the desert and survive on
some water and a few desert plants; ! shall make
themmy vehicle,”

126. Which of the following is the FIRST sentence after
rearvangement?

1)A 2)B 3)C 4)D S)E

127. Which of the following is the SECOND sentence after
reavangement?

DA 2)B 3)C 4D  S)E

128. Which of the following is the FIFTH sentence after
rearrangement?

1A 2)C 3)D 4HE SF

129. Which of the following is the SIXTH (LAST) sentence

8 fter rearmangement?

1A 2)B J)C 4)D S)E

130. Which of the following is the THIRD seatence afier
rearrangement”?

A 2)B 3)C

3) appeared

3) loved

3) beyond

3) rock

4D $F

Directions (Q. 131-140): Read the folw .
carefully and answer the questions given below. Some of
the words are given in bold to help you locate them while
answering some of the questions.

One day Emperor Sultan was taking a walk in the Royal
Garden, when he accidentally stumbled upon a small rock
He was in a very bad mood that day. He summoned the
gardener and sentenced him to death for not having
removed the stone. The poor gardener was distraught at
receiving such a harsh sentence. He pleaded with the
Emperor, but Sultan was adamant. So the gardener ran (o
Badelal in despair and begged him to find a way to save
his life. The gardener told Badelal the entire sto1y. Badelal
wondered how he could help the poor gardener. He
pondered for a while and finally thought of a way. He told
the gardener not to worry and then whispered some
instructions in his ear. The next day, the Emperor Suitan
was walking in his royal garden. The gardener came up to
the Emperor and spat at his ‘feet’. The Emperor was
shocked at him. He was furious to see the same gardener
commit such an act of disrespect. Just then Badelal walked
up to the Emperor. Sultan was even more surprised to
discover that Badelal had instructed the gardener to spit
on his feet. Seeing that the Emperor was furious. Badelal
then explained to him as to why the gardener had done
such a deed. He told the Emperor that the gardener was
one of the most loyal subjects who served the king. And it
would have been shame on the Emperor’s part for
sentencing a man to death for such a petty reason as
forgetting to remove a small rock. And therefore, Badelal
had asked the gardener to spit at Sultan's feet. That was a
vile offence and would give Emperor Sultan a genuine
reason to sentence him to death. The Emperor was stunned
by the whole incident and he instantly realised his mistake
and forgave the gardener.

131. Which of the following is most nearly the SAME in
meaning as the word ‘STUMBLED?’ as used in the

story?
1) fell 2) plundered 3) broke
4) hesitated 5) lost

132. As mentioned in the story, Emperor Sultan sentenced
the gardener to death because

1) the gardener was not watering the plants in the
garden.



2) he thought that the gardener had failed to reportto
duty thar day

3) he wanted to puni h him for misbchaving with
Badclal a fcw davs back

4) the gardencr spit on his feet in front ofall the roval
courtiers.
$) None of the given options
-133. Which of the following can be a suitable title to the
story”?
1) Empcror Sultan and his favourite gardener
2) Badelal and his fricndship with the gardencr
3) The Mischicvous Gardener
4) Badeial and his Intelligence
5) Be Careful while Trying Traps for Others
134. As mentioned in the story, Emperor Sultan was in a
bad mood before stumbling upon the rock because
1) he had had a bad dream.
2) he was not feeling well.
3) he had fought with Badclal.
4) hc was angry with the royal cook for not preparing
his favourite mcal.
S) Not clearly mentioned in the passage
135. Which of the following is most nearly the OPPOSITE
in meaning ofthe word ‘DESPAIR’ as used in the story?
| ) trust 2) misgry 3) chcer
4) desperation  S)sec e
136. Which of the following _ ibutes of Emperor Sultan
gets highlighted in the story?
1) unreasonablc but just 2) depressed
3) thoughttul 4) ill-tempered and rude
5) confident
137. Which of the following is most nearly the SAME in
meaning as the word ‘HARSH' as used in the story?
1) severe 2) soft 3) weak
4)loud 5) uraven
[38. As mentioned in the story, Badelal directed the
gardener to spit on Emperor Sultan’s fcet as
(A) he wanted Emperor Sultan topunish the gardener
severely.

(B) he wanted to make Emperor Sultan realise his
mistake.
(C) he was trying to play a prank on the gardener.

1) Only A 2)Only B 3) Both Aand B
4)BothAandC 5)OnlyC

139. Which of the following statements is true in the context

of the story?

) Emperor Sultan punished both the gardener and
Badelal when the gardener spat on his feet.

2) Emperor Sultan had decided to punish the gardener
even before he came across the rock in the garden.

3) Badelal was Emperor Sultan’s nephew.

4) The gardener would usually seek Badelal’s advice
on all matters,

3) None of the given options is true

140 Which of the following 1s most ncarty the

in mcaning of the word "ADAMA T as used n the
story”

1)6mrm 2) flexible Y creative
) rigid 5) unfixed
Dircctions (Q. 1 41-145): Read this sedvence to find

out whether there is any grammatical crror in it. The
crror, if any, will be in onc part of the sentence. Mark the
part with the crror as you answer. If there is no crror,

mark ‘No crror® as your answer. (ignore the errors of
punctuation,if any.)

141,

142.

143.

Unfortunatc many people only / invest in insurance
to get / tax exemptions and do not/ study the schemes
ofYered, in depth.

1) Unfortunate many people only

2) invest in insurance to get

3) tax exemptions and do not

4) study the schemes offered, in depth.

5) Noerror

One of the factors that /resulted in the large number /
of non-perforining assets in banks is / the misuse of
regulations by banks themselves.

1) One of the factors that

2) resulted in the large number

3) of non-performing assets in banks is

4) the misuse of regulations by banks themselves.

5) Noerror

A budget is a record / of money comes in from sources
/ such as salary and payments to / be maade such as
rent and insurance premiums.

|) Abudgetis a record

2) of money comes in from sources

3) such as salary and payments to

4) be made such as rent and insurance premiums.

5) No error



144 | was Bappy to | arn that / he had recelved the
pre bpwus award/ and when 1 visited him to
congratilste hirnaell /7 he wis hard st work as usual,
1) | was happy to leann tha
2) hie had reccived the prestigions awaed
3) und when 1 vixited him to congraalme himself
4) he wis hatd i work ns usunl.

§)Nocitul

145. While 1.1C's lending operations are / vast its lending
standurda / urc also s stringent as / those follawing
banks
1) While L] s lending operations are
2) vast its lending standards
1) are atro as stringent ns
4) those following hankas.
5)No etvor
Dircections ((5. 146-150): The sentence has a blank

indicating that somcthing has been omitted. Choose the

word that best fits the meaning of the sentence as a whole.

146. No-(rills airports arc thosc which have only
infrastructure to handle aircrunt.
{)no 2) construct
4) basic S) extravagant

147. She was carcful with inoncy and would keep

3) any

account of the petty cas in a diary.
1) its 2) minu 3)exactly
4)no S)pro ly

148. India intends 1o import skill training to 402 million
peopic over the ncxt five years and them in
scctors like construction and retail,
I) empioys 2) deploy
4) pay S) occupied

149. The philanthropist donated a well on the
that everyone would draw water from it and that it
wouid bclong to the whole village.

3) hired

I) chance 2) condition 3)tenn
4)credit 5)law
150 | had systcmatically planned my weekend

inp, | was at a loss when he asked me to work on the
weekend instead.
1) Thaough 2)Despite
4)Sull 3) As
Dircctions (Q. 151-160): In the paasage, there are
blankys, cach of which hssbeen numbered. Agsinst each,
five words are suggesfed, one of which fits the blank
appropriately. Find out the appropriate word in each case.
A shepherd-hoy. who (]S8]) a flock of sheep near a
village, brought out the villagers many times by (] $2) out
“wolf ! Wolf "’ and when his neighbours came to help him
(15)) at them for their pains. Ile did this on a regular basis
just to {134) chesp thrills from the activity. No (] §3) how
much the villagers tried o (] $8) him to ccase the activity,
he would not stop doing it. The Wolf, however, did

corpe af last. The lhtphcrd-boy. now really um shouted

3) Until

in an agony of terror “Pray, do come and heipine the W
iskilling the sheep!™ BBut no onc paid any (189) w s cri

nor (J60) any asssstnce, 1 he Woll, havin 10 Cause {
{car, st his leisure, laccrated and destroyed the whele-Rucy

151, 1) cuught 2) fooked 3 ) watcled
4) guird 5) mingled

152, 1) saying 2) tatking 3) loudly
4) shout S)crying

153. 1) giggle 2) amused 3)lsughed
4)cheered S) threw

154. 1) mention 2) deceive 3) getung
4)dcrive 5) obtained

155. 1) much Z2)matter 3 ) doubt
4) way 5) problem

156. 1) commence 2) understand  3)tekk
4) 1o0ld 5) say

157. 1) finally 2) actual 3) had
4)truly 5) reality o

158. 1) alanned 2) frighten 3) enjoying
4) curious 5) feared

159. 1) money 2) distance 3) heed
4) attentive 5) observation

160. 1) passed 2) send 3 ) favoured
4)call 5)rendered

Test-V: Reasoning Ability

it is possible to make only one meaningful English
word with the third, fifth, sixth and tenth leniers of the
word ‘INSTRUCTION’, which wouild be the second
letter of that word from the right? If more thap one
such word can be formed, give * X' as the answer. If 0o
such word can be fonped. give ‘Z’ as your answex
1)Z 2) X 3)O 4)U S)R
Directions (Q. 162-166): Study the given informmmn
carefully toanswer the given questions.
~ Inacentain code language. ‘telephone lines are by’
Is written as *vk jd baef”. *draw two paraliel lines’ & wrins
8s'qn vk hfom’, *busy people never draw * is wiinen as D
ba su hf” and ‘two lines are intersocting” is wWriten as “®
om Jd vk'. (All codes are two-|efter codes only )
162. Which may be the possible code for lmesm
togqher' in the given code language”
1) mi vk ef 2))}domcz 3)viomaz
4)cami vk S)mica hf

163. What will be the code for ‘draw panaliel’ i the gvo
code language?

)mign 2)jd mi
4)Qnh( Ham e
3) Other than those given as opliags.

'¢4.1n the given coge language, whay dacs the code B

stand for?
1) busy 3 I

Oare 2) two

3)lines



165. What is the code for ‘people’
language?
1) Either *su’or ‘tx'
2) Other than those given as options
3) Either ‘mi’or'jd’
4) vk
5)qn

166. What is the code for ‘telephone’ in
language?

1) mi 2)gn 3) vk

4) Other than those given as options

S)ef

Directions (Q. 167-171): Stud
information and answer the questions,

Seven ftiends namely T, U, V, W, X, Y and Z are
standing in a straight line facing north, but not necessarily
in the same order. U stands exactly in the centre of the line.
Only one person stands between U and T Only one person
stands between Z and W.

| Z stand.s neither on the immediate left nor on the
immediate right of U. X stands second to the right of Y. V
stands on the immediate right of Z.

167. Four of the following five form a group as per the

given arrangement. Which of the following does not
belong to that group?

NXY 2)ZW W HTV S)UT
168. What is the position of Xlwith respect to U?

1) Third to the right

2) Immediate right

3) Third to the lef

4) Immediate left

5) Second to the left
169. Which of the following is TRUE regarding V?

1) V stands at one of the extreme ends of the line.

2) V stands second to the left of Y.

3) Only one person stands between V and U.

4) Only two persons stand between V and W.

5) T is one of the immediate neighbours of V.

170. Which of the following represenss the position of W
from the right end of the line?

1) Second 2) Third

4) Fifth $) Sixth
171. Which of the following pairs stand at the extreme ends

of the line?

VY 2)ZX HVZ 4HVX  5HTX
mow many such pairs of letters are there in the word
‘PROHIBITS’ each of which has as many letters
between them (in both forward and backwa.rd
directions) as they have between them in the English

alphabetical series?
1) More than three
3) Two

5)None

in the given code

the given code

Y the following

3) First

2) Three
4)One

Dircctions (Q. 173-174): Study the following
information and answer the given questions.

. Each of the five friends, F, G, H. I and J has a different
height. 1 is taller than both [ and G but shorter than J. J is

pot the tallest. G is not the shortest. The tallest of them all
IS 172 cm tal! and the second shortest is 160 cm tall.

1'73. Which of the following is true with respect to the given
arrangement?

1) 1is the third tallest among them.
2) Only one person is taller than F.
3) None of the given options is true
4) H's height is 160 cm.
5)F’sheight is definitety more than 160 cm.
I74. H’s height is 8 cm more than G’s height. Which of the
following can be H's height?
1) 165cm 2) 172¢cm
4) 168 cm S$Y170cm
Directions (Q. 175-179): In each question, two/three
statements followed by two conclusions numbered 1 and 11
have been given. You have to take the given statements to
be true even if they seem to be at variance with the
commonly known facts and then decide which of the given
conclusions logically follows from given statements
disregarding commonly known facts.
175. Statements:  All keys are {ocks.
Some locks are irons.
Conclusions: L All keys are irons.
IL Some irons are definitely not keys.
1) Both conclusion I and I 1 are true.
2) Neither conclusion | nor 11 is true.
3) Either conclusion Lor 11 is true.
4) Only conclusion 1 is true.
5) Only conclusion 1l is true.
176. Statements: All instructions are manuals.
i All manuals are rules.
Conclusions: 1. All instructions are rules.
I1. All manuals are instructions.
1) Only conclusion [i is true.
2) Neither conclusion I nor Il is true.
3) Either conclusion I or 11 is true.
4) Only conclusion 1 is true.
5) Both conclusion I and 11 are rue.

3) 150 cm



| Sisemeats: Saome rds are papers [y N 1) lwo 1ht o
All papcrs are booha 1) 1 hroee AR T
‘0 beok 1s a nevel IR 11 the paven wotde e artanged e th o Uy
Counclenions: 1. Al leant som cards are books appc v a dhclionany frome U N W tte pa in ol
{l. N novel & a card whie b on the toltown o sads se 0 co e win han - 1
1) Both concluston | and I are truc BDIME L SN NAIM i yE1h L)

2) Esther conclusion | or |l » true ERS 1 our olthe thltoswin « pan ot iter e alth inay Nam
3) cither conclusion | nos 11 is \rue wav ba cd on t aeh b alphiab vval o e
4) Only conclusion | is true form a group Whhas th on
$) Only conclusion 11 true. lo the group”

|70. tatements:  Some doors are windows NDODW  )K0O V0 At SILIN,

No window 1s a cabinet Directions (Q. 1R6-190): Study the llb"ﬂ“’“lu

1. No cabinel is a door. Information und answer the given question,

11. Al least somce cabincls are doors. t lghl person | J K, L MUN, O 1 amd () ale aMlting
| ) Both conclusion [ and [l are truc. around acircular table, tacing the ¢ ntee withegpinl distang
2) Neither conclusion | nor [l 1s truc. between cach other hut not nece satily in the samo vrder
3) Either conclusion [ or ] is true. K 15 an immediate neighbour ot bath J and (), Ohly wne
4) Only conclusion | is true. per on sits between J and L. M sty econd to the fefh ol P
5) Omnly conclusion 1] is true. P is not an immediate neighbour ot O Only on per on sils

|79. Satements:  Some bulbs are lights. between M und N.

Some lights arc fans. IR6. Which of the following pairs of lctters represents the
Cosclusinas: 1. Some (ans aredcfinitely not bulbs. pecople who stexactly between 1. and N when counted
11. All bulbs are fans. from the right hand sidec of N?

1) Both concluston | and 11 are true. HIK 2)0Q Hnoe 4) KM SYMQ
2) Netther conclusion | nor 1] is true. 187. What is P's position with respect to the one who s on
3) Eitherconclusionl or{ ~ true. the immediate lct of Q?
4) Only conclusion [ is true. |) Second to the right
5) Only conclusion I is tru® 3) Fourth to the lefd
Directions (Q. 180-184): The question is based on $) Third to the let

the Gve wovds given below: 188. 1iow many peoplc ar¢ sitting between €O and ¥ when

sl o
that doss 0ot b long

Conclusions;

2) Third 10 the right
4) Second to the et

LY BUD MET DYE AlM counted in the clockwise direction starting trom P?
(The new words fortned after perfoiming the mentioned 1) Four 2) More than tour
operations may or may not be meaningful English 3)One 4) Three

words.) 5)Two

130. How mary legers are there in the English alphabetical
order between the first letter of the word which is
second from the e and the second letter of the word
which is first from the right of the given words?
1)Twa 2)Three 3)S 4)Nonec 9S)Five

181. [f each lemer in cach word s arranged in alphabetical
order wihin the words, how many words will change

189. Which of the following is true regarding Q as per the
given arrangement?

1} Only three persons sit hetween Q and P
2) M sits second to the left of Q.

3) None of the given options is true
4) Q is an immediate neighbour of both P and J.
5) One of the immediate neighbours of Q sits on the

when compared to the original set of words? immediate right of L.
JOne  2)Thwee 3I)Nome 4)Four 5)Two 190. Who is sitting on the immediate right of O°
I1&2. If i caeh of the given words, each of the consonants M 2)K 3)L 4)N $)Q

is changed to the previocus letter end cach vowel is
changed—to the next letter as per the English
alphatserscal order, m how many words thus foemned

Directions (Q. 191-195): In each question
relationship betweea different elements ts showa in the
statements. The statements are followed by tw¢

will no vowe! appecar” conclusions. Study the conclusions hased on the give
1) Four 2)Two 3)One statements and Bark the appropriate answer.
4) More Gan fowr S) Tiwoe 191. Statement: A<Y=BsX=C2a?2

123. if the (st alpbabaz m cach of the words is changed 10 Conclusions: LA<C ILA=C

the next 2iphutet as per the Eaghish alphabetica! order,
bow many words kaving two or more vowels (same or
diffcrene) will be formed”?

1) Both conclusion 1 and 11 are true.
2) Neither conclusion | nar 1l is true,
3) Either conclusion | or 1l is TTue.



192

193.

M.

195.

4) Only conclu 100 1 15 true

$) i concluson ]l 1 true

SAstemconts: P A<R=K;S2>2J>R
Coancluswons: LP<) ILS>K
1) Both conclusson | and Il are true.

2) Either conclusion 1 or 1l is true.

3) Neither conclusion I nor il is true,

4) Only conclusion | is truc.

€) Only conclusion 1l is true.

Statements: P<A<R=K;$S>)J2R
Conclusions: 1.LA>) 1LS>P
1) Neither conclusion 1 nor 11 is true.

2) Both conclusion | and Il are true.

3) Either conclusion | or I{ is true.

4) Only conclusion 1 s true.

5) Only conclusion Il is true,

Statemen’: P<A>S2T=¥F<D
Conclusions: 1.T=>2P 11.D>S
1) Both conclusion | and 11 are true.

2) Neither conclusion | nor il is true.

3) Only conclusion I is true.

4) Only conclusion | is true.

5)Either conclusioni or I1 is true.
Statements: O<P>T>S;P<N<L
Conclausions: iLN> 11.O>L
1) Either conclusion | or Il s true.

2) Neither conclusion I no |l is true.

3) Both conclusion 1 and 11 are true.

4) Only conclusion | is true.

5) Only conclusion 11 is true.

diffcrent floors of a building but not necessanily 1n the
samc order. The lowermost Noor of the building ts nwnhered
one. the one above that 15 numberced two and so on il the
topmost floor is numbered cight,

Q lives on an odd-numbcred floor but not on the floor
numbered 7. T lives immcdiately below Q. Only throe penple
live between T and M. O lives on an even-numbered floor
immediately above S. Only two people live between N and
R. N lives on one of the floors above R. P does not live on
the floor numbered 5.

196. Who lives exactly between the floors on which T and

O live?

M 2)R 3)P 4)Q 5)S

197. Who amongst the following lives on the floor
numbered 5?
1)Q 2)N 3)R 4)M 5)S

198. Which of the following is true about N as per the
gtven arrangement?
1)S lives on one of the floors above N,
2) Only two people live between N and Q.
3) N lives on the topmost floor.
4) N lives immediately below P.
5) All the given statements are true

199.1f M and S interchange their positions and so do P
and T, who amongst the following will live between T
and Q as per the new arrangement?
1) No one 2)BothSand P 3)OnlyN
4)BothRand M 5)OniyM

200. Four of the following five are alike as per the given
arrangement and thus form a group. Which of the

Directions (Q. 196-200): Study the following

information and answer the given question.
Eight fnends M, N, O, P, Q, R, Sand T live on eight

Answers

.4 22 31 43 85
&2 7.1 85 9.3 10. |
.l 12,2 3.2 143 1S |
6.5 17.2 18.2 19.1 20. 1
21. 4 22. 4 23. 2 24. 1] 2§8. 1
2.4 211 28.1 29.5 30.1
3.4 32,2 331 343 351
3.2 37.5 38.3 39.1 40.3

41. 2: Let the total work be 336 units
(L.CM of 42, 28 and 48 = 336 unils)

336
. A’s one dey's work = 42 =1 8 units

336 _
Simitary. B's onc day’s work = | ,g ~

12 wnits

336 _ .
C's one day's work = ( 48 ‘] 7 uaits per

day

~ AS 7 days’ work =7 x 8 = 56 units

B's 7 days’ work = 7 ~ {2 = 84 units

" Rowao  work = 336 - (56 + 84) = 196

1)NR
4) QM

196
.. C can do the reniaining work in 7

= 28 days
42. 1. Scheme A Scheme B

fnvested x . 7200 - x
Let Tx be invested for 6 ycars at the rate

12% per annum.
And (7200 - x) be invested for 2 years at

the 18te-of 12% per annum.
Now, 6 * [2% of x + 2 x 12% of (7200 - x)

= 4008
or, 72% of x + 24% of (7200 ~ x) = 4008

or. 0.72x - 024x = 4008 — 24 x 72
= 4008 - 1728 = 2280

or, 0.48x = 2280

_ 2280 _ 228000
%7 048 48
Quicker Approach:

Overall % intercst = 4008
era o INtCres 7200

= 4750

x 100= 55%%

following does not belong to that group?

2)QO 3)TP

5)TR

Using alligation method
A i3

6712=72% 2-12=24%

7200

s 1 = x 95
. Investment in A 95 + 49

7200 <05 = 9500
144 2
43. 4: Arca of the circular plot = nr?

= 2—2—x21:¢2l
7

= 34750

-
—

. Area of the remaining pait of ithe circular

3
plot = %2—x2|x2|— %

=66 x 21 — 385 = 1386 - 385
= 1347.5 sq metre



{

44, 4; length of train = 54ﬁ|4xm
= 210 mctres
‘. Time laken by the man to cross the

_ . 210x 18
jlationary train = O S 6 = |4
= |08 seconds
48. 5, Ratioofprofit A: B : C
So, A B - C
18000x1.5x 15000 »x 12000~ 2x
or, 27x 15% 24 x

Ox Sx 88X
Now, 5x « 272§

2725
ix = 3 x8 = ¥4360

». C's ghare in profit = 4360
46. 4, Let the speed of the current be x kmph.

9 9

$ =2
Then, 12+4x 12—-x

9(12—!*124»!)'2

144 = x 1
24 %9 -2

144 - x?
or, 144 - x* = |08

of, x! = 36

S X =6 kmph

Quicker Approach: When we reach at the
stage

9 9
+

12+x  12-x
it comes to our mind that x shodl be a
multiple of 3, because RHS is a whole number
and LHS has numerators and parts of
denamninglors & multiple of 3. So, select the
switsble—chaice and verify the equation.
hoice (4) 6 km/hr satisfies the equation as

o,

o1,

=2

9 9 1 3
——t—a —— > )
1$ 6 2 2

47. 4, Total quantity of mixture is 91 litres,
Now. 26 litres mtxture is taken oul.

. Remaining mixture = 91 - 26 = 65 litres
Now, S litres pure water is added to the
mixiure

Now, wad QuEmity of mixture = 65 + $ = 70
litres.

. Totel quantity of water in the new mixture

- [%ulos-]lﬂmu

Metbod Il Tolal quantity of mixture = 91
litres
Now, 26 lilres mixture is laken oul.
. Remaining mixture = 9] - 26 = 6$ litres
Ratio of milk to water in the mixture s
' oi 65
' =33 13 1210 ]‘Sllllmumm
44 'q added
' New mixture = 5§ + 15 = 70 litrce
. Reqnimd % of wuler in ths new mixture

15 150 3
mulﬂﬂ 7 l,

40, 1.7 = (A7) (&Y 12V
= 2209 - 64 144 = 2001 « 2010
9.5 JUAK  Jaoun . yT6 184 P T
2
747049« 184 --
7
| ?
: — ) . -
2 J;" | R4 :
pon -I-893|84 1
3
184 - 3 ?
D . 7

To (184 ) x 7= 18] x 7= 1267
80. 4; (10" x 3.465 + 10" x 0,253) + (120 ~
10%) = 107 + 2

10'! x34654+10'% x0.253 _ 107
10% x12 2

105 x3.465+10% x0.253 10’
12 2

10%(3.465 + 2.530) _ 107

12 2
or, 10" » 10°
7«8
N 1863+6.5-184

?
287-184

?

or,

or,

=851+37

or, = 2]

T= —
or, 23
52. §,

42+24\* (660 2
- fd 0 ==
7w ( 73 ] [22) (30)“ =900

53,3, 7 =19 » (9000 +40) x 45
9000 9000 81000

o —x45= x9=——=10125
40 8 8

9 lol':s = $32.80 « 540

447 x5

o 1. ¥a.5%32x628 =12%+%

or, Jiaax2s 20,18
77

180
o, J9xl6un2s =

180
or, 1S x Jl, -,
o 7 { 1) 12 0

PP ALLLUL

r'JT)Zo?

or, J' - Ji02.9

Squaring both sides, we get
J=102+?

-?'T-Jd

£6. 2, 7 + 2§
5, | N 49 ‘27
144 §76 | 34
$76

/2“
144 62

17 24 27
I2 25 34 25

¢ 0o £x25 27

25

§7.5.65 x9+7=101] 4+
= |17

J256

=101+ 16

65x9 -
117

or, 7 =

h
§8. |: — of 1440 + 40% of 3550 -

"-_- 2
'3 61

h] 2
or, -3' x 1440 + -g x 3550 -61=

or, 5 x 480 +2 x 710 = 3721 =7
or, 7 = 2400 + 1420 - 3721 =99

3
§9. 2, 7 + (25% of 289 - 32: ) =02

(
i)»:289— IJ'] =02

or, 7+~ 3 4
\ (289131 )
or, 7 + \ 4 J = (.2
Y -
or. 7 X 158 0.2
02x158
= =02x%x395=79
60. 3. 84 + 142 =7 x 105 = 825
™ 105
or, 84 + 19 = ———
6 8.25
. 280x825 280:84-280):%
105 105
_ 2240+70 2310
105 0s - 22
61.2; (12.5 x 14) +20 + 41,25 = (7)' + 25
3
or, 8.75+4125= ("
2.5



o 50°25=7
» = |25

1= \!‘ Sx5x§ =5

63.2, 036 » 036 + 028 x 0.36 + 0.14

.. (a+by =4 +2ab+b

So. (036 + 0.14) = (0.5) = 0.25

63. 3. Let Drya’s monthly salary be T100.
Now, she spends (12 + 24 + 30)% = 66%

~ Remaining amount = 100 - 66 = T34
Now, again she spends 60% of T34 on fixed
deposit

- Remamning amount = 40% of ¥34 =T13 .6
Since. 100 » 26500

26500
<~ 136w —ﬁo—"llf) =265 = 13.6 =T3604

¢4. 5. Monthly ratio of caming of P to Q:
P Q
Ix I
i;.‘!()% (increasc) ¢ 40% (decrease)

4x].2x 7x- Tx>2 _ 21ix
S h
8 21x
o 4.8x
. 4 5
4 8xxS 8
Now, -—

21x 7
So, we can’t determine the amounts of

moathly eamings of P and Q.
Note: Since all the given values are in ratio
ot % (and no absolute valuc is iven), we
can't find the solution. _
§. 1. - y=5%
y+I 3l
" x+19 N i
Sx+1 3
x99 1
o x+1=3x+57
or. 2x = $6
CR=28
~ Diffaence = 5x - x=4x =4 x 28 =112
6. ¢, Lz Sita’s present age be Ix.
Then Gia's present age = 8x
x-S 2
RICEE
o l4x-35=16x - 10
or. Sx = 2§
x=$
licnce the presaat age of Gits = 8 x §
= 40 yemn
Method 1. Sna Gim
Presemt 3 N
S yeanagd, 2J ?] :
Diffe.vn0c o lerms of ratio =3 -2 = |
w5—yamy-
w8-7w
L Cm'ipamtage e« 3 ¢
67. S. Pormrwrof-the rectengle ® 2(/ ¢+ b)
= 120
or, 2(b+ 4 +b)=120
or, 4b » 8 = 120

b 2 28
4

The iopent airdde drawn inside the rectangle
will heve-diameter cqual to the bresdth of

O rectingle

. | 22
-. Circumference of the circle =nd = T’* 28

= 88m

68. 5; Average salary of A, I8 and C 1s 7200
. Total salary of A, B and C = 7200 = 3

= 21600

Total salary of B, C and D = 7550 x 3

= 22650

- Let A's salary be Tx.

Then D’s salary = T1.25x

Now,B+C+ ]25x-x-B-C

= 22650 - 21600

or, 0.25x = 1050

105000
Y 4200

~. Average salary of B and C

21600-4200 17400

- 3 - = J8700

69. 2; The seriesis +1* + 1, +2° + 1, +3° + |,
+4' + ], +5* + 1, ..

e 18+2'+1=27,27+3+ (=55,
SS+4*+1=120,120 + S' + 1 =246, ...
70. 2; The series is a combination of two
series

I. 13 154 178
L IL JL
+24 4234 +24

Il. 10¥ 82 S6
O ) N |

26 -2.6
71. 4, The series is +15 x {, +15 x 3,
+15 x 5, +15 x 7, +15 x9, _.
ie4d +15x1=19 19+ 15 x 3 =64,
64 + 15 x 5=139, 139 + IS x 7 = 244,
244 + 1S x 9 =379, ..
72. 3, The series is +10. +20, +40, +80, +160.
e 7+10=17,17+20=37,37 + 40 = 77,
77 + 80 = 157, 157 + 160 = 317, ...
73. I; The series is x0.5 + 2, x] + 2,
x[S+2 %x2+2, ..
iel2x05+2=8,8x1+2=10,
10x15+2=17,17 x2+2 = 36,
36 x25+2=92 ..
74. 5; Total number of gold bangles sold by
store R in June, July and August together
= 35% of (145 + 105 + 130)

7
= 35%of 380 = £x380=—><380

100 20
7 x19=133
7S. 3. Reqd difference
= (121 + 145)- (89 + 133) = 266 - 222 = 44
76. 3; Reqd average

_ 129+87+165 381
] !

| (S +T) August
T2 1. Reqd matto = < Ty Seprember

114+ 129 24) o

" 20e131 31 1301

. —
X=
.

20.2
|

= 127

177 -120

78. 4. Reqd % increase = 0 x {100

- -SlxIOOx”"S

120 6

= 47.5%

79. 2: (¢t the cost of each chocolate he ¥x
Then, prolit on 25 chocolales

= 25x x 20 = 5x
100
Profi |5 chocol =15 0
rofit on IS chocolaies = 15x - 100 4 9%
- Profit on all {25 + 15 =) 40 chocolales
25
= 40, =
X % 100 | 0x
S0~ {S5x + 4.5x) = 6
or, 0.5x = 6
X = ﬁ =312
80. 1; Fust number Second number
X y
0.5x + y= 0.875x
>y = 0.375x
X 1000 40 8
— = —— = — = —==8 -3
4 375 15 3
§1.3 82. 1 83. 5 84. 3 8§. 5
86. | 87.13 88. 1 89. 1 90.4
91. 4 92. 1 93. 2 94. 4 95. 2
96. S 97. 5 98. 4 99. 5 100. 3
101. | 102.S 103.1 104. 1 05.3
106. | 107. 2 108. 1 109.4 110.2
111. 3 112. 5 113. 2 114, 2 1S I.
6. 3 117.3 118.2 119. 5 120. |

121. 2. The appropriate word should be ‘rode’
122. 2; The cosrect spelling ts “marriage’
123. 5

£24. 2. The correct spelling s “cottage’
125. 1; The correct spelling should be ‘surged’
(126-130): CEBDFA

126.3 127.5 128.5 129.1 130.2
31,0 13205 1334 134.5 1353
136. 1  137.1 138.2 139.5 140.
141. 1. Replace ‘unfortunate’ with
‘'unfortunately’

142. 5

143. 2: Insert ‘that” before ‘comes’
144. 3. Replace “himself” with ‘him’
145. 4 ; Replace ‘following' with " followed

by’

146. 4 147.2 148.2 149.2 180.5§
181.3  152.5 183.3 "154.4 188.2
1§6. 3  157.4 1S8. 1 159.3 160, ¢

161. 2; INSTRUCTION



The required letters are S5, R, U and O With
these letter the words that can be formed arc
SOUR and OURS.

(162-166):

telephone lines are busy -+ vk id be cf ..(1)
draw two parallel lines —» gn vk hf om , (1)

busy people never draw — (x ba su hf . (iii)
two lines are intersecting

— miom jd vk {tv)
From (i) and (i), lines » vk . Av)
From (i) and (ill), busy — ba Avi)
From (1), (iv) and (v), are — jd L Awvie}
From {i), (v), (v1) and (vil),

tclephone ~» ef o (viil)
From (ii), (iv) and (v), two = om . (ix)
From (i) and (iii), draw — hf . (x)
From (ii), {v), ({x) and (x),

paralfcl = qn .(xi)
From (iif). (vi) and (x).

people/never — tx/su . (xii)
From (1v), (v). (vii) and (ix).

intersecting — mi .(xa)
162. 4 163.4 164.1 165.1 166. 5
(167-171):

Facing north:?-$+-?»—?- -#.-1‘
Z VvVWUYTX

167. 4. All others have only one friend sitting
betweaen the two friends given in each pair
168. 1| 169.3 170.4 171,2

. R
172.2. PRO NI BI1 TS
| J
(173-174):
F >3 > H > G =
(172 cin) (L6 cMm
173. 5

174. 4. 160 + 8 = [68 cm

178. 2. Al keys are locks (A) + Some l6cks
are irons {I) = A + 1 = No conclusion. Ilence
conclusion | does not follow. Neither does
conclusion Il fotlow.

176. 4, All instructions are manuals (A) + All
manuals are rules (A) = A+ A=A = All
manictions arc rules. Hence conclusion |
follows.

Again, All instructions are manuais (A) —
canwTrum — Some manuals are instructions
(). Hemnee conclusion 11 does not foltow.
177. 4, Samg cards are papers (1) + All papers

nrc boaks (A)= 1+ A= Somc cards arc
books llcnce conclusion 1 toliows
Again. Some cards are hooks (1) + No book s
a novel = 1+ E = () » Somc cards use neot
novels  Henee canclusion (1 docs not fuflow
178, 3. Somc¢ doors arc windosws (1} + No
window i1s a cabinet (1) = 14 I = ) = Some
doors are not cabinets. tlence neither | nor
1l follows. But the two conclusions make a
complcmentary E-1 pair. Hence cither
conclusion | or 1 follows.
179. 1. 11ypc statements can't be combined
l[ience ncither conclusion follows.
180. 3, First Ictter of the second word from
the lIef = B
Sccond letter of the first word from lhe right
= |
Therc arc six lIclicrs between B and | in the
alphabetical ordcr.
I81. 4; SLY —» LSY; BUD —» BDU:
Mi:T - EMT. DYE — DEY,
AIM 5 AIM
182. |; SLY —» RKX; BUD —+» AVC:
MET — LFS; DYE — CXF. AIM — BIL
183. 5. SLY —» SMY; BUD - CUD:
MET —» MFT. DYE —» EYE, AIM —» BIM
184. 5, SLY BUD MET DYE AIM

—- AIM BUD DYLE MET SLY
185. 2; In all others, the first lciter occupies
the same place in alphabetical order from
the left as the second doces from the right,
(186-190);

K
186. § 187.3 188. 1 189.3 190. 4
191.4. A<Y=8B8sX=C>2
S A<C

Hence conclusion | is true but conclusion 11
iS not (rue.
192. 1; Given statements:

P<A<R=K (1)

S§$2J2R (i)
Combining (i) and (i), we get
PsA<R=K<sJ<S
Hence P < ) and conclusion | is true
Atso S > K and conclusion Il is true.

193, S, Given <lalements:
PeA<= K (1)
S>3 .R (41)

Comnhining (1) and {(11), we gt

PZA<<R=K~%$<S

Hence A < ) and concluston 1is not tre

But § > I’ and conclusion 1118 {ruc

194. 2. Given statemcat:
P<AS>T-F<D

llence P> and T can’t bc comparcd and

concluston 1 does noi Tollow Neither can 1)

and S. Hence conclusion |l does not follow

195. 4; Given statements:
O<P2T=>8 1)
P<N<i (s1)

From (1) and (i1).

NeP2T>SorN>S tience conclusion g

truc.

Also, O<PsN<LorO<L

Hence concluston 1l docsn't follow

(196-200);
Floor Pervan
8 M
7 P
6 N
S Q
4 T
k) R
2 O
1 S
I -
197, 1
198. 4
199. 3.
Floor Person
8 S
7 T
6 N
5 Q
4 P
3 R
2 o
l M

zFG. ?’. Tn all othcrs, there arc {wo ||00r$

between the floors of the fricnds given
each Pair.



